Exercise- Self Practice 7D (cont.)

Q3. Find 5 equivalent fractions of the following :-
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[ In Q3. (b) and (d) are homework . ]

Q4. Fill in the boxes by the correct number to make each sentence true:-
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[ In Q4. (b) and (d) are homework . 1




Q5. Write the missing terms of the equivalent fractions:-
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[ In Q5. (b) is homework . ]

Q6. Discover the pattern and write the next three fractions for the following:-

6. Discover the pattern and write the next three fractions for the following,
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[ In Q6. (a) is homework . ]

[ Q7. is omitted (it will not come in the exam) ]




